'S Series: Blank shaft end (Fine, medium, high helix lead: Tube type) Nut models: SFT, LSFT NSK
®16Xx5, ¢p16x16., ¢20x10, $20x20

Q 4-X drill thru.
- Seals (t I )
A4 J 1A eals (wo places) # 1 le (Oil hole) Clbore YXZ
K
g X=h 2
% ~F ‘
co5 €03 co5 ©F:i@ ®
N ‘ ‘ - P ~ 4
re I 5l TS s [T SN g
A o] T|- B [ Suo|— 1 N I S R
E\Hﬂl RS s gj‘ £ 8 K%' / S . g
LV N i
Center hole de[_A‘J [e] Center hole U max. 4 min,
LB ' H Housing hole and its clearance
L L Nﬂ? W (Only applicable to shaft dia. 16 Xlead 16)
L3 L; (Hardened) L, .
; - View X-X
No case hardening Lo No case hardening
Nut type code: SFT, LSFT
Unit: mm
StrokeStrew Ball | Ball |Root 07 Basic oad rating Axial Nut dimensions Screw shaft dimensions  |Lead accuracy Run out [—
shaft [Lead| i |circle| gia | T (N) Mass
Ball screw No. | Max. dia dia. di dia. | furns play b T . T — T taional speed
gl szl o ('ja- g | Dynamic| Static| pax. %] Flange || Bolt hole |pujecting tive| Oil hole | "] Shat end, right | Shatenlet| Ruere' || Deviation] Variaton| S .56 by | 91 | Nimin)
vt (Ciits) C, | G DIATHIKB]L W] X YIZIU[VIR] Q [ T| L | & [LILILId L] L |T| e | vl| I | J]| K
W1605FS-1-C3T5 | 458 500 710 0.015(0.010{0.055 1.4
1 175|16.5 | 13.2 |2.5x1|7 1 . 4 4 11(42|515. 5[5.5[—|—| —[M6x1[17 16.2| 5 |40[150(13.2 .012]0. ——3000
W1609FS-1-C3T5 | 858 6|5 |3.175[16.5 |13 5x1|7330(13500] 0.005(40|63 (40|55 51(56.5 9.5|5.5 6x 900 6.2| 5 |40[150(13.2 60 1110 0 0.02110.01510.095 0.012{0.008 19
W1606FS-1-C5T16 | 544 600 810 0.030{0.023|0.085 1.5
16|16 |3.175/16.75[ 13.4 | 1.6x1(4710{8110|0.005|34|57|34|50{12|56|45|5.5 9.5/5.5[19/20f 8 | M6x1|17 16.2{10|40(150(13.4| 60 0 0.015[0.011 513000
W1611FS-1-C5T16 | 1044 X X 1100 1310 0.046(0.030{0.150 2.3
W2009FS-1-C5T10 | 846 900 1130 0.040(0.027|0.110 3.2
20| 10 [3.969|21 16.9 {2.5x1(10900[21700] 0.005|46{74|46(66|13|54|59 6.6 1116.5|—| —| —| M6x1| 24 20.2|10|60{150(16.9| 80 0 0.015{0.011 13000
W2013FS-1-C5T10 | 1246 * %1300 1530| ° |0.054]0.035/0.150 4.1
W2010FS-1-C5T20 | 937 1000 1230 0.040(0.027|0.110 3.6
20| 20 [3.969|21 16.9 |1.5x1|7040112700/0.005|46|74|46|66|13(63|59|6.6 1116.5|—| —| —| M6x1| 24 20.2{13]60[150(16.9 80 0 0.015[0.011 —~—=13000
W2015FS-1-C5T20 | 1437 1500 1730 0.054(0.035|0.200 4.8

Remarks: 1. NSK support unit is recommended.
2. Only rust preventive agent is applied at time of delivery. Please apply lubricant (oil or grease) before use.
3. Permissible rotational speed is determined by a d - n value and a critical speed. See page B509.

B197 B198



